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BWNE OLEDEFHH TLEDH TEREDHDRDE OREERfAisi 8

NRBH | ZERY | REE C 1TANFEH L[ s ZDfth

AT (o}:] A B | c1 | c2 [F&#3| F HFEE| #8 | muEsE) SER | a b c d e f & BB || ORE
=B 3,285 2,696 82.1 1,812] 552| 285 2| 45 0 884 32.8 3,685 971 1.37] _100] 113] 137 42 2| 39] 433 48 1] 49 237
ERMRER 3,285 2,696 82.1 1812] 552] 285 2] 45 0 884 32.8 3,685 971 1.37] 100] 113] 137] 42 2| 39| 433] 48 1 49 237
RFERLT 868 744 85.7 491| 164 76 1 12 0 253 340 1,021 254 137 35 16 26 6 of 12 95 8 1 9 0
BT 1,088 278 25.6 231 36 7 2 2 0 47 16.9 154 13 055 23 1 14 11 0 8 67 4 0 4 4
KEH 697 580 83.2 321| 153| 86 21 18 0 259 447 1,073 231 185 25| 18] 22 4 1l n 81 2 4 6 23
T EEET 135 119 88.1 81| 22 8 4 4 0 38 31.9 139 41 117 4 0 5 0 0 1 10 0 0 0 10
=4ERET 192 157 81.8 18] 23] 11 3 2 0 39 248 215 74 1.37 7 0 2 2 0 o 11 0 0 0 0
BN ET 255 134 525 103| 25 5 0 1 0 31 23.1 83 6 0.62 2 0 2 2 0 2 8 0 0 0 0
RIEET 80 59 738 30 8l 16 0 5 0 29 49.2 175 69 2.97 3 1 2 0 0 0 6 0 0 0 2
R4 gast 14 14 1000 9 4 1 0 0 0 5 357 31 12 2.21 0 0 0 0 0 0 0 0 0 0 0
EBARAT 61 56 91.8 31 18 7 0 0 0 25 44.6 74 22 1.32 6 1 4 0 0 0 11 0 0 0 0
LLIRAL 30 30/ 1000 17 7 5 1 0 0 13 433 56 24 1.87 1 0 2 0 0 0 3 0 0 0 0
FIT 3,420 2171 63.5 1432] 460] 222 13] 44 0 739 34.0 3,021 746 1.39] 106] 47] 79| 25 1 34 292 14 5] 19 39
TR 1,304 1,105 84.7 748 215] 117 3] 22 0 357 323 1,489 239 1.35] 47| 17| 66 7 1] 28] 166] 16 o[ 16 30
teFH™ 594 448 75.4 267| 101 71 0 9 0 181 404 798 152 178 20 1 14 2 o 14| 57 3 0 3 31
JIIF5HT 66 52 788 33 13 5 0 1 0 19 36.5 73 12 1.40 5 3 3 0 0 o 11 0 0 0 0
=55HT 60 45 75.0 38 6 0 0 1 0 7 15.6 17 2 0.38 0 0 0 0 0 0 0 0 0 0 0
FH R AET 323 292 90.4 173 68| 41 1 9 0 119 408 486 110 1.66 7 1 1 2 0 4| 31 2 0 2 14
KFFeET 52 47 90.4 18| 16 7 3 3 0 29 61.7 153 7 3.26 0 0 0 0 0 0 0 0 0 0 0
%% HEFHET 34 26 76.5 22 1 2 0 1 0 4 15.4 22 0 0.85 2 0 3 0 0 1 6 0 0 0 0
RRET 125 105 84.0 67| 19| 12 0 7 0 38 36.2 134 25 1.28 4 0 3 0 0 0 7 0 0 0 0
EEHN 41 30 73.2 13 9 8 0 0 0 17 56.7 73 19 243 3 3 2 0 0 1 9 0 1 1 1
SEM 16 14 875 9 4 1 0 0 0 5 35.7 14 0 1.00 0 0 0 0 0 0 0 0 0 0 0
R 23 19 82.6 14 2 2 0 1 0 5 26.3 26 9 1.37 0 0 0 0 0 0 0 0 0 0 0
= AT 51 39 765 26| 13 0 0 0 0 13 333 24 10 0.62 2 2 0 0 0 0 4 0 0 0 0
A& 46 37 80.4 26 5 5 0 1 0 11 29.7 51 11 1.38 0 0 0 1 0 2 3 2 0 2 1
TR TR P 2,735 2,259 82.6 1454] 472] 271 7 55 0 805 35.6 3,360 596 149]  90[ 39 102 12 1 50] 294] 23 1| 24 77
RIS HT 710 617 86.9 382 135 85 2| 13 0 235 38.1 967 152 157 37 13[ 22 21 1 6| 100 4 0 4 29
ERrT 243 201 82.7 116 49| 33 0 3 0 85 423 376 57 1.87 5 1 5 2 1 o 14 1 0 1 0
Eem 940 770 81.9 484| 209 65 1 11 0 286 37.1 968 166 126 49 31| 30| 12 2 7| 131 0 0 0 1
BT 200 182 91.0 99| 47| 35 0 1 0 83 456 363 60 1.99 0 0 0 0 0 0 0 1 0 1 0
ERRET 156 138 885 93 33 M 0 1 0 45 326 167 60 1.21 8 2 4 2 0 o 16 0 0 0 1
o gy 278 214 770 150 42| 20 0 2 0 64 29.9 246 55 1.15 9 5 3 1 0 1 19 0 0 0 3
T 3HET 224 195 87.1 126] 45| 23 0 1 0 69 354 227 45 1.16] 11 3 5 6 1 0 26 0 0 0 7
[LFEHT 310 295 95.2 187 71 36 0 1 0 108 36.6 432 92 146 13 4 15 1 0 1 34 0 0 0 7
;o & BT 158 128 81.0 95 23 9 0 1 0 33 25.8 102 24 0.80 5 3 4 1 0 3 16 0 0 0 4
= R PR T 3,219 2.740] _ 85.1|  1,732] 654] 317] 3| 34| 0| 1,008] 36.8] 3848 711 40| 137] 62| 88| 46| 5| 18] 356 6] O] 6 52
ERCLH 289 214 74.0 118] 58] 31 1 6 0 96 449 450 143 2.10 6 0 8 5 0 o] 19 0 0 0 0
FAEEA 35 31 88.6 19 7 5 0 0 0 12 38.7 40 23 1.29 0 0 0 1 0 0 1 0 0 0 3
)+ 1 1| 1000 1 0 0 0 0 0 0 0.0 0 0 0.00 0 0 0 0 0 0 0 0 0 0 0
KIEEH 3 3| 1000 2 0 1 0 0 0 1 333 1 1 0.33 1 1 0 0 0 0 2 0 0 0 0
+32)114 39 30 76.9 18 5 5 1 1 0 12 40.0 87 32 2.90 0 0 0 0 0 0 0 0 0 0 0
N BT AR FT 367 279 76.0 58] 70| 42| 2| 7] O 21| 434 578 799 2.07 7 T 8 6] 0 0 22 0 0 o0 3
= EPHT 60 52 86.7 30 9 10 1 2 0 22 423 124 46 2.38 5 1 0 1 0 0 7 0 0 0 0
KieHT 189 154 815 87| 43| 23 0 1 0 67 435 307 57 1.99 4 0 1 0 0 0 5 0 0 0 3
T T 46 42 91.3 21 14 6 1 0 0 21 50.0 80 24 1.90 1 0 2 1 0 0 4 0 0 0 0
2isH 6 6| 100.0 3 0 3 0 0 0 3 50.0 11 5 1.83 0 0 0 0 0 0 0 0 0 0 0
EINES) 10 9 90.0 0 3 4 0 2 0 9| 1000 66 18 7.33 0 0 0 0 0 0 0 0 0 0 0
Tttt 14 13 92.9 9 2 0 0 2 0 4 308 14 0 1.08 0 0 0 0 0 0 0 0 0 0 0
N AlIE S, 4 4| 1000 2 1 0 0 1 0 2 50.0 15 15 3.75 0 0 0 0 0 0 0 0 0 0 1
N+ 7 7| 1000 4 0 2 0 1 0 3 429 11 7 157 0 0 0 0 0 0 0 0 0 0 0
R B At 16 12 75.0 8 2 1 1 0 0 4 33.3 16 7 1.33 2 0 0 0 0 1 3 0 0 0 0
o FIT 352 299 84.9 164] 74| 49 3 9 0 135 452 644 179 215 12 1 3 2 0 1 19 0 0 0 4
[ B (R R M) 10,093 7,748 76.8 4940[ 1,730 901] 28] 149 0] 2808 36.2] 11451 2,431 1.48] 352 150] 280] 91 7] 103] 983] 43 6] 49 175
EERICELETD) 13378 10,444 78.1 6,752| 2,282] 1,186]  30] 194 o] 3692 354 15,136 3,402 1.45] 452 263] 417] 133 o[ 142 1416] 91 7| 98 412




